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Review for Test 4.1, 4.3, 4.4
NO Calculator!
1) Locate the absolute extrema of the function f(x) = 2x* — 4x — 2 on the closed interval [-2, 2].
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2) Locate the absolute extrema of the function f(x) = x + cos x on the closed interval [0, 27 ].

aNT x | 45 J’\'(’q’ | —oimy P —\
0| | D= |- siny 1{ I;(x) dpsolntz wn @, (0,1
:[25_ /2 — ._

'H
gl T+l g I Lo aosvlnte mox(3 (fmﬂ
Z

3) For the function f(x) = 2x> — 24x* + 5: I
a) Find the critical number(s) of the function.

b) Find the intervals where the function is increasing or decreasing.

c) Apply the First Derivative Test to identify all relative extrema.

d) Find the “possible” points of inflection of the function.

e) Find the intervals where the function is concave up or concave down.

f) Find the points of inflection of the function.
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4) Identify the open intervals where the function f(x)=3x"+x’-21x? is increasing or decreasing.
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5) Find all relative ex¥rema ji=
e (x+4)°
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6) Determine the open intervals on which)t(heq raph of f(x)=7-15x +9x*—x’ is concave downward

or concave upward.

e £rix) = -\ riey - 342

‘FM 1 Concen2 Up ‘Fftm ) ?:-) i) = 1€-bx EB___ o
‘Hx\ \S CoNep d""\m QYW" ng) D=2 A ¥
\... R R s e — - [0\15 1@
PPoT \=2

7) Find all points of inflection: f(x) 2%3& -2x% +15.
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8) 1984 AB 4 and BC 3

A function fis continuous on the closed interval [-3,3] such that f(-3)=4 and f(3) =1. The function f" and
f"" have the properties given in the table below.
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(a) What are the x-coordinates of all absolute maximum and absolute minimum points of f on the interval
[-3,3]? Justify your answer.
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(b) What are the x-coordinates of all points of inflection of f'on the interval [-3,3]? Justify your answer. ?OW’&- \¢
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(c) Sketch a graph that satisfies the given propefties of /.
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